1/0;do/dAg [pi/rad]

Ratio to ATLAS

=
o
N

[ERY
o

1071

1072

1073

[EEY

0.5

Jets

7000 GeV pp
[T I |

ATLAS

Pythia 6.428 390
Pythia 6.428 391
Pythia 6.428 392
Pythia 6.428 396
Pythia 6.428 397
--¥-- Pythia 6.428 398

Aii)

- %
'/’;/;/’
Rt
PRt |
L 'A’f/
AL
.- /‘/f’//
—— L
— Ligst
— REP P P
Z 4
— R
I o,
4
_ 7’
¥
1
|
| | | | | | | | | |
- i : i
— s .
— _.7 00N,
. M . -~.
— -~ /ARSI I
- <~ . .
— - SISO NN T~
. 1 7 NS
— - /. 14 ~ N N
— DAY ALY N \
I - // ', \\\\\ -
- //‘ i N

—|Q—-o—|—EI—-—-—|—-—-—Q—-—-|

~

N
~
NIS

NN
~ N
N
<

<

N

’

EE\ .
N SN
~

~
~
— ~
~
~
~
~
~

I\\v‘l IIIIIIIIIIIII__IIIIIII I IIIIIIII I IIIIIIII I IIIIIIII I

&

0.8

Rivet 3.1.10, = 2.9M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


